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QUIZ

1. �The introduction says that Donald Trump and 
Hillary Clinton will be ... 
a) in the same state. 
b) in Cleveland. 
c) leaving Ohio.

2. �Where was Bill Clinton when this news 
bulletin was broadcast? 
a) Detroit 
b) Cleveland 
c) New York

3. �What is the reporters’ criticism of Hillary Clinton? 
a) She only speaks to ethnic minority journalists at news conferences. 
b) They do not have sufficient opportunities to ask her their questions. 
c) It is more than a year since she gave a news conference.

4. �What do the Ohio polls mean? 
a) Both candidates will be working very hard in the state. 
b) Donald Trump is catching up in the popular vote. 
c) The state does not represent national voting intentions.

5. �Bernie Sanders says Hillary Clinton should ... the Clinton 
Foundation if she is elected. 
a) shut down 
b) avoid contact with 
c) restructure

6. �According to the broadcast, which sentence is true? 
a) Bill Clinton will be in New Hampshire. 
b) Bernie Sanders will not be campaigning. 
c) Hillary Clinton will be with Tim Kaine.

Answers : 1. a - 2. a - 3. b - 4. a - 5. b - 6. c.
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